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Content Check

Read and answer the questions helow.

OQO -

. Circle the correct word to complete the following sentence:
Figure Trepresents a because there are three simple sugar molecules.

monosaccharide polysaccharide

2. Circle the correct word to complete the following sentence:
Figure 2 represents a hecause there are many simple sugar molecules bonded together.

monosaccharide polysaccharide
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3. Sketch a model that shows five simple sugars bonded together.
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Content Check
Teacher Key

1. Circle the correct word to complete the following sentence:
Figure 1representsa ___monosaccharide  hecause there are three simple sugar molecules .

2. Circle the correct word to complete the following sentence:
Figure 2 representsa ___ polysaccharide because there are many simple sugar molecules honded together.

3. Sketch a model that shows five simple sugars bonded together.
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